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A B! faggd IEH 90 ! YeTad ¥ JHY § A fRRT% A UdT § Finding the value of the

Equilibrium constant with the help of a cell Electric carrier force

Sie et | 4 fobar g1l ©

Zn + Cu?t = Zn?* +Cu

T AT fRIRTP (Equilibrium state constant)

K, = [Zn2*][Cu]/[Zn][Cu2']

3 uerd & ferw
[Cu] = [Zn] = 1 BT &
3Hd:

K. = [Zn>*]/[Cu**]

A e 9 (from nernst equation)
Ecen = E%en — (0.059/n) log([Zn**]/[Cu®*])
3Hd:

Ecell = E%en — (0.059/n) log K,

TR SIART Eepy = O

0 = E% — (0.059/n) log K,

(0.059/n) log K¢ = E%p

Il

E°cen = (2.303RT/nF)log K,

0.059 log K. = n E®

log K. = (n E%1)/0.059

K. = G (n E°qy1)/0.059
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